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Math 75 Exam 1 Name: /ﬁ’l ‘J_ k?lu{

Fall 2014 Version A ‘"¢
Section (circleone):  Arnold (12:00 and 1:00) Kelm (11:00) de Souza (10:00)

Instructions.

0 Write your full name and circle your section time above.
0 Please write the following information on your Scantron form:

{ Under NAM E, write your full name.
{ Under SUBJECT, write your section time (10:00, 11:00, 12:00 or 1:00).
{ Under TEST NO., write\A".
[ Your answers to the multiple choice questions must be marked on your Scantron form (and

nothing written in your exam booklet will be considered for the multiple choice guestions). Use
the space provided in the booklet to complete the free response questions.

[0 Please make sure to double-check your answers.

0 No calculators, no cellphones, or notes are allowed on this exam. Ali electronic devices
must be silent and stowed.

Multiple choice questions

X2+ 3x+ 2
1. Find the vertical asymptote(s) for the graph of the function f (x) = 2+ At 3

(@)x=0__ (d) x =413 and x = &1
< @) x = #3 ) (e) x =81
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(c) x=#2and x =+1

(x+ 2)(XH)

(x+2) Ok )

> i
== {emowble
Avs coatwr
BY T“C WAy . Vi

yv=\ ¢ "‘/\vf\'vuﬁ‘a-‘ AssYMY -



Math 75 Exam 1 Version A

2. If h(z) = (fog)(z), F(1) =2, f(2) =5, f(3) =10, f(4) = —10, g(1) = 4, g(2) = =7, 9(3) = —4,
g(4) = 13 find A(1).

@ -10 (d) =7

(b) 10 () 13

(c) 5

) = f(o)="1c

3. Which of the following statements is true about the function f(z) = In(3z)?

(a) The y-intercept of the graph of f(z) is the point (0,1) 3

(b) f(z) is decreasing x :.%
(@ The domain of f(z) is (0, 00) €

(d) The range of f(z) is (0, 00)

(e) The graph of f(z) has no x—intercepts
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4 lim YEZS
*y9 x —9

1
d) =
(2) o0 (@
(b) This limit does not exist (e) 1
9

1

®;

5. The inverse of the function f(z) = Vz+2, z>—-2is...
(a) fFHz)=2+2; >0 (d) f®!(z) does not exist
M ~(z)=2>-2; >0 (e) 3 (z) =2*—2; allreal
(¢) fP(x) =2*+2; allrealz
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Math 75 Exam 1 Version A
6. To obtain the graph of y = sin(z + 3) — 2, we must shift the graph of y = sin(z)

(a) 3 units up and 2 units to the right
(b) 3 units to the right and 2 units down
(c) 3 units to the right and 2 units up
O 3 units to the left and 2 units down
(e) 3 units up and 2 units to the left

—z—1 ,if <0

3 ,if =0

3r—1 ,if O0<z<l’

—2x+5 ,if x>1

Which of the following statements is correct about the function f(z)?

— N -20) + 5

(a) The function f(z) is continuous at z = 1. \“q-'s' (& g (‘) \ ¢ )

0 The function f(z) is discontinuous at z = 0. T AL -0~ ‘ * 3
¢) lim f(z) =3 (N ) = —~

(c) () Falre = [

(d) f(1) =2 Falfe fe)= -2¢€D+5 =3
(e) The function f(z) has a vertical asymptote at z = 1.

Fa\se .  Theee are noge ! Hothing v 443
hv\omino-"vr‘f to be o "

7. Let f(z) =

an d
~ #3(0)-|
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422 — 7

8. What are the horizontal asymptote(s) of the function f(z) = m?
P
V=3 (d)y=0
1 1
(b)y= »Y="35 (e) no horizontal asymptotes
1
(c)y= )
( > o 2
r\_./v—'
PO 2 1 \
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2 <
B X
9. The solutions of the equation V2sinz 4+ 1 =0 are
om
(a) z=— +2nm (d) xf_g_.—_.mr -a,lru-l-a;-:.’?—W‘ — N
4 7 ——

%+2n7randx:%r+2%

om T
(c)m:Zerrandx:Z—l—mr

\

with n = 0,£1,+2,...

mYX = ~L - )
7 V2. <
-'QLL 2| =T o
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Math 75 Exam 1 Version A

10. The range of the function f(z) = sintdx is

(a) [-1,1] (d) (=00, 00)
® i-g g”] (©) [~m,7]
(c) [0, 7]
1, Douam oR
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11. Express 2** ag an exj 011entieﬁ'function with base e. [‘(:H/\ﬁ (S c_ {‘ /r.]
X - ver
() ¥ = & M) 2+ = ) For  rverst
In(2) Q'F S\ Y -
(b) 2x+4 — ex+4 ln(2) (e) 2x+4 — 32ex1n(2)

(C) 2x+4 — 4ex1n(2)
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12. Find lim (228 + 42°)
aqres AL

Y= —op
(a) 2 (d) o0
(b) 4 —00
(c) 0

}/M
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Math 75
Free response questions

13. For what values of z is the function f(z) = continuous?

x
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14. Consider is the position function s(t) = —16t* + 100¢t. Find the average velocity between t = 2

3~ S(2) -
___?__(7) S ___2_ = S e
o —2 AvS
3(3) = -6 (?) + 100(3> = -1¢Y% 300D
= |56
3 (2) = —16(%) Fro6(2)= —6G +220
= 136
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15. Consider the function represented by the graph below

T ¢ 3 4 % & 7 8 a8 1o 1 iz 13 14

Find (if it exists, otherwise write DNE)
(a) lim f(z) = &
xl 2+
(b) lim f(z) PV E
(©) lim f(e) 4
(d) lim f(z) QO
(e) f(6)
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